) SPE-142

Spacetronik Height adjustable desk frame

Hohenverstellbarer Schreibtisch
m m

Stelaz biurkowy z regulacjg wysokosci

User Manual

Benutzerhandbuch | Thumaczenie oryginalnej instrukcja obstugi

Height Range / Hohenbereich / Regulacja wysokosci 720-1200 mm

Base width / Basisbreite / Szerokos¢ stelaza 1005 - 1600 mm

Travel speed / Reisegeschwindigkeit / Predkos¢ regulacji 20 mm/s

Weight Capacity / Gewichtskapazitat / tadownos¢ 100 kg

Duty cycle / Auslastungsgrad / Cykl pracy 20% Max. 5 Mins on, 18 Mins off




Warning / Warnung / Ostrzezenie

Make sure no obstacles are in the desk's path. Make sure the desktop is not touching any walls. Make
sure all cords are appropriate length to accommodate the change in height.

‘1? WARNING! PINCH POINT
. ’ Keep Hands And Fingers Clear

- Keep children away from electric height adjustable desk, control & power units and hand-
A set. There is a risk of injury.

- Keep all electric components away from liquids.

- Do not sit or stand on the desk frame.

- Do not crawl or lie under the desk frame.

- Do not place any object tall than 640 mm underneath the desk.

- Do not open any of the components - the legs, control box, handset, motor, gear box and

transmission system.

- The product is designed with a duty cycle of 5 min. on, 18 min. off.

Stellen Sie sicher, dass sich keine Hindernisse im Weg des Schreibtisches befinden. Stellen Sie
sicher, dass der Desktop keine Wande berihrt. Stellen Sie sicher, dass alle Kabel die richtige Lange
haben, um die Héhenanderung zu berucksichtigen.

WARNUNG! PINCH POINT

‘ Halten Sie Hande und Finger frei

- Halten Sie Kinder von héhenverstellbaren elektrischen Schreibtischen, Bedien- und
A Netzteilen sowie dem Mobilteil fern. Es besteht Verletzungsgefahr.
- Halten Sie alle elektrischen Komponenten von Flissigkeiten fern.
- Setzen oder stehen Sie nicht auf dem Schreibtischrahmen.
- Kriechen oder liegen Sie nicht unter dem Schreibtischrahmen.
- Stellen Sie keine Gegenstande mit einer Hohe von mehr als 640 mm unter den
Schreibtisch.
- Offnen Sie keine der Komponenten - Beine, Steuerkasten, Mobilteil, Motor, Getriebe und
Getriebe.
- Das Produkt ist mit einem Arbeitszyklus von 5 min ausgelegt. am 18 min. aus.

Make sure no obstacles are in the desk's path. Make sure the desktop is not touching any walls. Make
sure all cords are appropriate length to accommodate the change in height.

OSTRZEZENIE! PUNKT UCIECIA

Utrzymuj rece i palce z dala od ruchomych elementéw.

4

- Trzymaj dzieci z dala od elektrycznie regulowanego biurka, jednostki sterujgcej, zasilajgce;j
A oraz sterownika. Wystepuje ryzyko zranienia.
- Wszystkie elementy elektryczne nalezy trzymac z dala od ptyndw.
- Nie siadaj ani nie stawaj na ramie biurka.
- Nie czotgaj sie ani nie ktadz sie pod ramg biurka.
- Nie umieszczaj pod spodem zadnych przedmiotéw, ktérych wysokos¢ przekracza 640 mm.
- Nie otwieraj zadnego elementu — ndg, sterownika, panelu sterujgcego, silnika, skrzyni ro-
dzielczej i systemu transmisji.
- Cykl pracy produktu wynosi 5 min. ON, 18 min. OFF.



Parts & Components / Teile & Komponenten /
Elementy sktadowe

Tools Required / Werkzeuge bendtigt / Wymagane narzedzia

4 mm Allen Wrench & Wrench (include)

N

Phillips Head Screwdriver

and/or Power Drill

Components Included / / Elementy skiadowe

@’_fol

Legs Feet Crossbar
% /
No.1|x2 No.2 |x2 No.3[x1
Side Plate Control Box Handset Power Cord
‘ M 1234 A v
No.4|x1 No.5|x1 No.6
Power Adapt

Machine Screws
M6X16

Machine Screws
M6X10

Rubber Pads

Wood Screws
ST5X18

No. 1o|><9 No. 11[x5 No.12[x13] No.13[x15
Cable Clips Bracket Machine Screws| |Wood Screws
g l\/I5X10 ST4x16
No.14[x2 | No.15[x1 No.16[x1 | No.17[x5




Components Diagram / Komponentendiagramm /
Zawartosc¢ opakowania

-—111

No Description / Beschreibung / Opis Qty
1 Legs / Beine / Nogi 2
2 Feet /Flilke / Stopa 2
3 Crossbar / Querlatte / Poprzeczka 1
4 Side Plate / Beilagenteller / Ptyta boczna 2
5 Control Box / Kontrollkasten / Zasilacz 1
6 Handset / Regler / Sterownik 1
/ | Power Cord / Netzkabel / Kabel zasilajgcy 1
3 Lift Cables / Kabel / Hebekabel 2
9 Leveling Studs / Nivellierbolzen / Kotki poziomujgce 4
10 Screws M6x16 9
11 Screws M6x10 5
12 Rubber Pad / Gummiauflage /Gumowe podktadki 13
13 Screws ST5x18 15
14 Cable Clip 2
15 Bracket 1
16 Machine Screws M5x10 1
5

17

Wood Screws ST4x16

4




Assembly Instruction / Bauanleitung / Instrukcja montazu

BEFORE YOU BEGIN Lay out all Parts and Components to ensure that you

have all the parts listed on the parts page.
BEVOR SIE BEGINNEN Legen Sie alle Teile und Komponenten so aus,
dass alle Teile auf der Teileseite aufgefuhrt sind.

PRZED ROZPOCZECIEM Roztéz wszystkie czesci i komponenty, sprawdz
czy masz wszystkie wymienione czesci na tej stronie.

Step 1

First: Expand Crossbar.
Second: Assembile lift legs according ,A” in the diagram.
Third: Assemble table feet with 8 M6x16 screws and 4

leveling studs. Level Studing

Schritt 1

Erstens: Erweitern Sie die Querlatte.
Zweitens: Montieren Sie die Hubbeine gemaf
,A” in der Abbildung.

Drittens: TischfliRe mit 8 M6x16-Schrauben
und 4 Nivellierbolzen zusammenbauen.

Krok 1

Pierwszy: Rozt6z belke montazowg
Drugi: Zmontuj nogi zgodnie z rysunkiem.
Trzecie: Zamontuj stopy oraz nozki

Step 2

1. Assemble Part “B”: Connect plastic transmission head and use 2
mm Allen Wrench to tighten.

2. Assemble Part “C”: Make sure the hexagon rod fully insert to leg (if
the hole not at right position, please use allen wrench to adjust).

Schritt 2

1. Teil ,B* zusammenbauen: Kunststoff-Getriebekopf
anschliel3en und mit 2 mm Inbusschlissel festziehen.

2. Teil ,C* zusammenbauen: Stellen Sie sicher, dass die
Sechskantstange vollstédndig in das Bein eingesetzt ist
(wenn sich das Loch nicht in der richtigen Position befindet,

Krok 2

1. Zmontuj czes¢ ,B”: Podigcz plastikowg gtowice transmisyjng i
dokre¢ kluczem imbuso-wym 2 mm.

2. Zmontowac¢ czes¢ ,C”: Upewnij sie, ze pret szesciokatny jest
catkowicie zakonczony

wiéz do nogi (jesli otwor nie jest we wlasciwej pozycii, prosze uzyj
klucza imbusowego do regulacii).




Step 3

Assemble side plate with 4 M6x10 screws

Schritt 3

Montieren Sie die Seitenplatte mit 4 M6x10-
Schrauben

Krok 3

Zamontuj ptyte boczng za pomoca 4 $srub M6x10

Step 4

1: Hang bracket to crossbar and use M5x10 to fix
control box.

2: Use 12 ST5x18 to attach to desktop and 2
ST4x16 to attach handset.

3: Use 4 pcs M6x10 to fix the connection rail.

4. Use Wrench to tighten plastic nut according “D”
diagram.

5: Connect all cables and use cable clips for cable
management.

Krok 4

1: Zawies$ wspornik do poprzeczki i uzyj M5x10
do zamocowania skrzynki kontrolne;j.

2: Uzyj 12 ST5x18 do przykrecania blatu i 2
ST4x16 do przykrecenia panelu sterujgcego.
3: Uzyj 4 sztuk M6x10 do zamocowania szyny
tgczacej.

4. Za pomoca klucza dokrec plastikowg
nakretke zgodnie z literg ,D” diagram.

5: Podtgcz wszystkie kable i uzyj zaciskéw do
utozenia kabli.

Schritt 4

1: Hangen Sie die Halterung an die Querstange und befes-
tigen Sie die Steuerbox mit M5x10.

2: Verwenden Sie 12 ST5x18 zum Anschlief3en an den
Desktop und 2 ST4x16 zum Anschliel3en des Mobilteils.

3: Verwenden Sie 4 Stiick M6x10, um die Verbindungss-
chiene zu befestigen.

4. Ziehen Sie die Kunststoffmutter mit einem Schrauben-
schlissel gemal dem Diagramm ,D“ fest.

5: Schliel3en Sie alle Kabel an und verwenden Sie Kabelk-
lemmen fir die Kabelverwaltung.




Error Code Solution / Rozwigzywanie probleméw

Error Code Issue Troubleshooting
1. Wait 18 minutes.
Control Box continous service over 5 2. Or Plug out power cable(until
HOT _ handset without display), then plug
minutes. in the power again. The error code
will auto disappear.
Connection cables are not ICf:heck all (IjineEsOa1r§ cci_r:lne;;teq.
EO01 connected correctly. error code 'S St showing,
change to corresponding motor.
EO7 Load weight over 100 kg Remove excess weight
08 The service voltage is lower than the When the service voltage rises to the required voltage

product requirement.

the error code will auto disappear.

The service voltage is higher than the

When the service voltage falls to the

EO9 . required voltage the error code will
product requirement. .
auto disappear.
E10 Insert handset after control box al- Wait for 1 second and the error
ready has power. code will auto disappear.
Kod btedu Problem Rozwigzanie
1. Poczekaj18 minut.
Control Box dziata dtuzej niz 2. Rozitgcz zasilanie (odczekaj az wygasi sie ekran)
HOT . nastepnie podtgcz ponownie. Kod bfedu powinien
5 minut. . .
znikngg.
Potgczenie przewodow nie zostato quawddz ;l)opratwnolsc T(o+qtc Zk?n,' J,eS“ btad
EO01 wykonane prawidiowo. hadal wystgpuje skontaklu) sie z
sprzedawca.
EO7 Obcigzenie przekroczyto 140 kg Zredukuj obcigzenie
Zasilanie jest nieprawidiowe ponizej Gdy napiecie serwisowe wzrosnie do wymaganego
E08 wymagan. napiecia, kod btedu automatycznie zniknie.
Zasilanie jest nieprawidtowe, ponizej Gdy napigcie serwisowe wzrosnie do wymaganego
E09 wymagan. napiecia, kod btedu automatycznie zniknie.
E10 Podtgcz panel sterujacy po podtgcze- Odczekaj okoto sekundy kod btedu powinien

niu zasilania do control box.

zniknaé.




Operation Instruction / Bedienungsanleitung /

Instrukcja operacji

RESET

Press “DOWN?” button and hold, the handset will display “rES”
and the desk will fall to lowest position then rise slightly and
display height. Release button

Dricken Sie die Taste ,DOWN" und halten Sie sie gedrickt.
Das Mobilteil zeigt ,FES* an und der Schreibtisch fallt in die
niedrigste Position, steigt dann leicht an und zeigt die Hohe

~ES

Naci$nij przycisk ,W DOL” i przytrzymaij, na ekranie
pojawi sie ,FES”, oraz biurko opadnie do najnizszej
pozycji, a nastepnie lekko sie podniesie i wyswietli

an. Freigabeknopf

UP and DOWN

Press “UP” button to raise the desk higher
Press “DOWN?” button to lower the desk

AUF und AB

Driicken Sie die UP-Taste, um den Schreibtisch
hoher anzuheben

Driicken Sie die Taste ,DOWN?®, um den
Schreibtisch abzusenken

Memory Height Settings (Add
4 Height Settings in Memory)

Save up to 4 commonly used desk height presets
to recall them quickly.

1. Move to desired height.

2. Press “M” button.

3. Press “1,2,3,4” button on the handset to save
the current height to memory

4. To recall preset height press 1, 2, 3, 4 button.

Ustawienia wysokosci
pamieci (Dodaj 4 ustawienia
wysokosci w pamieci)

Zapisz do 4 czesto uzywanych ustawien
wysokosci biurka, aby szybko je przywotaé.

1. Ustaw sie na zadanej wysokosci.

2. Wci$nij przycisk ,M”.

3. Nacisnij przycisk ,1,2,3,4” na stuchawce, aby
za-pisac aktualng wysokos$¢é w pamieci

4. Aby przywota¢ zadang wysoko$¢, nacisnij
przycisk 1, 2, 3, 4.

wysokos$é. Pusc¢ przycisk.

GORA i DOL
Wcisnij ,Gora” aby przemiescic biurko w goére.
Wcisnij ,Do6t” aby obnizy¢ wysokos¢ biurka.

Speicherhdheneinstellungen
(4 Hoheneinstellungen im
Speicher hinzufligen)

Zapisz do 4 czesto uzywanych ustawien
wysokosci biurka, aby szybko je przywotac.

1. Ustaw sie na zadanej wysokosci.

2. Wci$nij przycisk ,M”.

3. Nacisnij przycisk ,1,2,3,4” na stuchawce, aby
za-pisac aktualng wysokos$¢ w pamieci

4. Aby przywota¢ zadang wysoko$¢, nacisnij
przycisk 1, 2, 3, 4.

Keypad Lock

The keypad can be locked to prevent
accidental activation or movement of the
desk.

To lock: Press and hold “UP” and “DOWN” button at
same time until "LOC" is displayed

To unlock: Press and hold “UP” and “DOWN’ at the
same time until current height is displayed.



Programming Setting Interface

How to access the programming setting mode.

Step 1: Press and hold “M” button until handset display “S_ _” then release
Step 2: Press again “M” button then access setup mode

Step 3: Press “Up” or “Down” to select the programing menu

Step 4: Press “M” to confirm the setting

So greifen Sie auf den Programmiereinstellungsmodus zu.

Schritt 1: Halten Sie die Taste ,M* gedrickt, bis die Anzeige ,S_ _“ des Mobilteils
angezeigt wird, und lassen Sie sie dann los

Schritt 2: Driicken Sie erneut die Taste ,M“ und rufen Sie den Setup-Modus auf
Schritt 3: Driicken Sie ,Auf‘ oder ,Ab“, um das Programmiermeni auszuwahlen.
Schritt 4: Driicken Sie ,M*“, um die Einstellung zu bestatigen

Jak uzyskac¢ dostep do trybu ustawien programowania.

Krok 1: Nacisnij i przytrzymaj przycisk ,M”, az na wy$wietlaczu pojawi sie ,.S_ _”,
a nastepnie pusé

Krok 2: Ponownie nacisnij przycisk ,M”, a nastepnie przejdz do trybu konfiguracji
Krok 3: Nacisnij ,W gore” lub ,W dét’, aby wybraé menu programowania.

Krok 4: Nacisnij ,M”, aby potwierdzi¢ ustawienie

The “1” button is for return to previous

menu in programing mode. If press 18| H sl

“1” button or no any more operation I - e I
within 20 seconds, the mode will auto

Hold “M” button until display "S_ _"then release
Die Taste ,1“ dient zur Rickkehr zum

vorherigen

Menii im Programmiermodus. Wenn B lJLlI 6

driicken : UL iRl .
Taste “1” oder keine Bedienung mehr

Innerhalb von 20 Sekunden wird der (M 1234 S_ _/\ \/)
Modus automatisch aktiviert I I
Verlassen Press “M” button again

Przycisk ,1” stuzy do powrotu do
poprzedniego menu w trybie

programowania. Jesli nacisniesz :@ ! H I @:
przycisk ,1” lub zadna operacja nie ' -
zostanie wykonana

w ciggu 20 sekund tryb automaty- (M 1 2 3 4 lun /\ V)
cznie porzuci¢ ' I

First program will display "1Un"



Programing ltem / Programmierelement /

Elementy programowania

Please go to “PROGRAMMING SETTING INTERFACE"
before proceeding to the below item settings

1Un - Change numeric display to show height in inch or centimeter Press “UP” or “DOWN”

to get a selection

“S1” means display “cm” “In” means display “inch”
2br - Display brightness setting “L” means low
brightness

“N” means normal brightness “H” means high
brightness

3bE - Handset sound setting “OFF” means turn off
sound “ON” means turn on sound

4Fu - Move up anti-collision sensitivity

LO means turn off this function

L1 means anti-collision value is lowest L9 means
anti-collision value is highest

5Fd - Move up anti-collision sensitivity LO means
turn off this function

L1 means anti-collision value is lowest L9 means
anti-collision value is highest

6FS - Balance sensitivity, to make the lifting col-
umn always at the same level

Press “UP” button until display shows “L0O - L9” LO
means turn off function

L1 is minimum sensitivity

L9 is maxmum sensitivity

"S1” bedeutet Anzeige “cm” “In” bedeutet Anzeige
“Zoll” 2br - Anzeige Helligkeitseinstellung “L” be-
deutet niedrige Helligkeit

“N” bedeutet normale Helligkeit. “H” bedeutet ho-
he Helligkeit

3bE - Die Einstellung des Mobilteils ,,OFF*
bedeutet, dass der Ton ausgeschaltet wird. ,,ON*
bedeutet, dass der Ton eingeschaltet wird

4Fu - Erhéhen Sie die Antikollisionsempfind-
lichkeit

LO bedeutet, diese Funktion auszuschalten

L1 bedeutet, dass der Antikollisionswert am
niedrigsten ist. L9 bedeutet, dass der Antikolli-
sionswert am hdchsten ist

5Fd - Erhéhen Sie die Antikollisionsempfind-
lichkeit LO, um diese Funktion auszuschalten

L1 bedeutet, dass der Antikollisionswert am
niedrigsten ist. L9 bedeutet, dass der Antikolli-
sionswert am hdchsten ist

6FS - Ausgleichsempfindlichkeit, damit die
Hebesaule immer auf dem gleichen Niveau ist
Driicken Sie die Taste ,UP“, bis auf dem Display
,LO - L9“ angezeigt wird. LO bedeutet
Ausschaltfunktion

L1 ist die minimale Empfindlichkeit

L9 ist die maximale Empfindlichkeit

. |8l ]
Cui2340)

" PR
" w123av)

Z

A N

\S

Presss “M” button
again.

Hold “M” button until
display “S_ _" and release.

i e '
ma o |
¢

JPress “UP” button, “S1” appear.]

it the current program.

First program “1Un” appeared.
Press “M” button to confirm

rM\ v Example
\ml 123 AV)

Press “M” button confirm “S1”, then
show centimeters.

»31” oznacza wyswietlacz ,cm” ,In” oznacza
wyswietlacz ,cal” 2br - Ustawienie jasnosci
wyswietlacza ,L” oznacza niskg jasnos¢

»,N” 0znacza normalng jasnos¢ ,H” oznacza
wysokg jasnosc¢

3bE - Ustawienie dzwieku stuchawki ,OFF”
oznacza wytgczenie dzwieku ,ON” oznacza
wigczenie dzwieku

4Fu - Zwieksz czutos¢ antykolizyjng

LO oznacza wytgczenie tej funkcji

L1 oznacza najnizszg wartos¢ antykolizyjng L9
oznacza najwyzszg wartos¢ antykolizyjng

5Fd - Zwieksz czutos¢ antykolizyjng LO oznacza
wytgczenie tej funkgciji

L1 oznacza najnizszg wartos¢ antykolizyjng L9
oznacza najwyzszg wartos¢ antykolizyjng

6FS - Czutos¢ wagi, aby kolumna podnoszaca
byta zawsze na tym samym poziomie

Wcisnij przycisk ,UP”, az na wyswietlaczu pojawi
sie ,LO - L9” LO oznacza funkcje wytaczenia

L1 to minimalna czutos¢

L9 to maksymalna czutosé




5SH - Minimum and Maximum height settings

Press “UP” or “DOWN?” to get a selection.

H1b - Original height setting. For example: The original display height is 70.0 and change it to 52.0,
so the controller will display 52.0-97.0. This function not change real height.

L1L - Lowest height setting. For example: lowest height is 70.0 and

change to 72.0, so the desk real lowest height will be 72 cm not 70 cm.

L1H - Max. height setting. For example: highest height is 115.0 and

change to 114, so the desk real highest height will be 114 cm not 115 cm.

6Hc - Constant touch or One touch to move up/down

Press “UP” or “DOWN?" to get a selection

001 means constant touch

002 means one touch

7H - Rebound height reset

Press “UP” or “DOWN?" to adjust rebound height. Press “M” button to confirm date. Mini-mum is 5
mm, Maximum is 20 mm

8r - Restore Factory Defaults

“FrE” Press “M” button on the handset to go back to factory setting

Please wait 2 seconds until the handset displays current height.

5SH - Minimale und maximale Héheneinstellungen

Dricken Sie “UP” oder “DOWN?”, um eine Auswahl zu erhalten.

H1b - Urspringliche Hoheneinstellung. Beispiel: Die urspriingliche Anzeigehéhe betragt 70,0 und
wird auf 52,0 geandert, sodass der Controller 52,0-97,0 anzeigt. Diese Funktion &ndert die tatsach-
liche Hohe nicht.

L1L - Niedrigste Hoheneinstellung. Zum Beispiel: Die niedrigste Hohe betragt 70,0 und

Wechseln Sie zu 72,0, sodass die niedrigste Hohe des Schreibtisches 72 cm und nicht 70 cm
betragt.

L1H - max. Hoheneinstellung. Zum Beispiel: Die hochste Hohe betragt 115,0 und

Wechseln Sie zu 114, sodass die tatsachliche hochste Hoéhe des Schreibtisches 114 cm und nicht
115 cm betragt.

6Hc - Standige Berlihrung oder eine Beriihrung zum Auf- und Abbewegen

Dricken Sie “UP” oder “DOWN?”, um eine Auswahl zu erhalten

001 bedeutet standige Berlihrung

002 bedeutet eine Beriihrung

7H - Ruckprallhéhe zuriicksetzen

Driicken Sie “UP” oder “DOWN?”, um die Riickprallh6he anzupassen. Drucken Sie die Taste ,M*, um
das Datum zu bestéatigen. Mini-Mama ist 5 mm, Maximum ist 20 mm

8r - Werkseinstellungen wiederherstellen

“FrE” Dricken Sie die Taste “M” am Mobilteil, um zur Werkseinstellung zuriickzukehren

Bitte warten Sie 2 Sekunden, bis das Mobilteil die aktuelle Hohe anzeigt.

5S8H - Ustawienia minimalnej i maksymalnej wysokosci

Nacisnij ,UP” lub ,DOWN?”, aby uzyska¢ wybor.

H1b - Oryginalne ustawienie wysokosci. Na przyktad: Oryginalna wysokos$¢ wyswietlania to 70.0 i zmien
go na 52.0, aby sterownik wyswietlit 52.0-97.0. To funkcja nie zmienia rzeczywistej wysokosci.
L1L - ustawienie najnizszej wysokosci. Na przyktad: najnizsza wysokosé to 70,0 i

zmienh na 72.0, wiec rzeczywista najnizsza wysoko$¢ biurka bedzie wynosi¢ 72 cm, a nie 70 cm.
L1H - maks. ustawienie wysokosci. Na przyktad: najwyzsza wysokos$c to 115,0 i

zmieh na 114, wiec prawdziwa najwyzsza wysokos¢ biurka bedzie wynosi¢ 114 cm, a nie 115 cm.
6Hc — Wciskanie przycisku lub jedno dotkniecie, aby poruszac¢ sie w gore / w dot

Nacisnij ,UP” lub ,DOWN?”, aby uzyska¢ wybor

001 oznacza ciggty nacisk

002 oznacza jedno dotkniecie

7H - Reset wysoko$ci odbicia

Nacisnij ,UP” lub ,DOWN?”, aby wyregulowa¢ wysokos$¢ odbicia. Nacisnij przycisk ,M”, aby
potwierdz zmiane. Minimalna to 5 mm, maksymalna to 20 mm

8r - Przywré¢ ustawienia fabryczne

»FFE” Nacisnij przycisk ,M” na panelu sterujgcym, aby powréci¢ do ustawien fabrycznych.
Poczekaj 2 sekundy, az ekran wyswietli aktualng wysoko$¢.

11



9d - Fatigue testing setting, press ,M” button, display ,PH”, then press ,1” button 5 times
Press ,UP” or ,DOWN?” button to get a selection. Then press ,UP” until desk starts auto move
up

,OFF” means turn off the test

»31” means the desk will test all the time without rest (No more than 20 minutes at a time)
»32” means the desk will running 1 time (fully up and down) then rest 4 minutes

,33” means the desk will running 1 time(fully up and down) then rest 6 minutes

,34” means the desk running 1 time(fully up and down) then rest 10 minutes

9d - Einstellung der Ermidungspriifung, driicken Sie die Taste ,M”, zeigen Sie ,PH” an und
drtcken Sie dann 5 Mal die Taste ,1”

Driicken Sie die Taste ,UP” oder ,DOWN”, um eine Auswahl zu erhalten. Driicken Sie dann
,UP”, bis der Schreibtisch automatisch nach oben fahrt

»,AUS” bedeutet, dass der Test ausgeschaltet wird

,31” bedeutet, dass der Schreibtisch die ganze Zeit ohne Pause testet (jeweils nicht mehr als
20 Minuten)

.92 bedeutet, dass der Schreibtisch 1 Mal lauft (vollstandig auf und ab) und dann 4 Minuten
ruht

,93” bedeutet, dass der Schreibtisch 1 Mal (vollstandig auf und ab) lauft und dann 6 Minuten
ruht

.24” bedeutet, dass der Schreibtisch 1 Mal lauft (vollstandig auf und ab) und dann 10
Minuten ruht

9d - Ustawienie proby testowej - wcisng¢ przycisk ,M”, sterownik wyswietli komunikat ,PH”,
nastepnie nacisng¢ 5 razy przycisk ,1”

Nacisnij przycisk ,UP” lub ,DOWN?”, aby rozpoczg¢. Nastepnie wciskaj ,UP”, az pulpit
zacznie automatycznie przesuwacé sie w gore

,OFF” oznacza wytgczenie testu

»31” 0znacza, ze biurko bedzie testowac caly czas bez odpoczynku (nie wiecej niz 20 minut
naraz)

,92” 0znacza, ze stelaz bedzie testowany 1 raz (catkowicie w goére i w dét), a nastepnie
odpocznie 4 minuty

,33” 0znacza, ze stelaz bedzie testowany 1 raz (catkowicie w goére i w dét), a nastepnie
odpocznie 6 minut

.94” 0znacza, ze stelaz bedzie testowany 1 raz (catkowicie w goére i w dét), a nastepnie
odpocznie 10 minut

13



Hereby DMTrade Mikolaj Tomaszewski declares under our sole responsibility that the pro-ducts SPE142
are in conformity with following directives: MD (2006/42/EU), EMC (2014/30/EU), LVD (2014/35/EU),
RoHS (2011/65/EU + 2015/863/EU). Full document (dec-laration of conformity) is available for download
from www.dmtrade.pl.

The WEEE symbol (the crossed-out wheeled bin) using indicates that this product is not home waste.
Appropriate waste management aids in avoiding consequences which are harmful for people and
environment and result from dangerous materials used in the device, as well as improper storage and
processing. Segregated household waste collection aids recycle materials and components of which the
device was made. In order to get detailed information about recycling this product please contact your
retailer or a local authority.

Made in P.R.C for:
DMTrade; Wisniowa 36, 64-000 Koscian, Poland

Hiermit erklart DMTrade Mikolaj Tomaszewski unter unserer alleinigen Verantwortung, dass das Produkt
SPE142 den folgenden Richtlinien entspricht: MD (2006/42/EU), EMC (2014/30/EU), LVD (2014/35/EU),
RoHS (2011/65/EU + 2015/863/EU). Das vollstandige Dokument (Konformitatserklarung) kann unter
www.dmtrade.pl heruntergeladen werden.

Das WEEE-Symbol (der durchgestrichene Milleimer mit Radern) zeigt an, dass es sich bei diesem Pro-
dukt nicht um Hausmlill handelt. Eine angemessene Abfallentsorgung hilft dabei, Folgen zu vermeiden,
die fur Mensch und Umwelt schadlich sind und aus gefahrlichen Ma-terialien resultieren, die im Gerat
verwendet werden, sowie durch unsachgemafRe Lagerung und Verarbeitung. Die getrennte Sammlung
von Haushaltsabfallen hilft beim Recycling von Materialien und Komponenten, aus denen das Gerat
hergestellt wurde. Um detaillierte In-formationen zum Recycling dieses Produkts zu erhalten, wenden Sie
sich bitte an Ihren Handler oder eine 6rtliche Behorde.

Hergestellt in P.R.C. fir:
DMTrade; Wisniowa 36, 64-000 Koscian, Poland

Niniejszym DMTrade Mikotaj Tomaszewski oswiadcza, ze urzgdzenia SPE142 sg zgodne z za-sad-
niczymi wymaganiami oraz innymi stosownymi postanowieniami ponizej wymienio-nych dyrektyw: MD
(2006/42/UE), EMC (2014/30/UE), LVD (2014/35/UE), RoHS (2011/65/UE + 2015/863/UE). Petna
deklaracja zgodnosci CE znajduje sie na stronie www.dmtrade.pl.

Uzycie symbolu WEEE (przekreslony kosz) oznacza, ze niniejszy produkt nie moze by¢ traktowany jako
odpad domowy. Prawidtowa utylizacja zuzytego sprzetu pozwala unikng¢ zagrozen dla zdrowia ludzi i
srodowiska naturalnego, wynikajgcych z mozliwej obecnosci w sprzecie niebezpiecznych substanc;i,
mieszanin oraz czesci skladowych, a takze niewta-sciwego sktadowania i przetwarzania takiego sprzetu.
Zbiodrka selektywna pozwala takze na odzyskanie materiatow i komponentéw, z ktérych wyprodukowane
byto urzgdzenie. W celu uzyskania szczegétowych informacji dotyczacych recyklingu niniejszego produk-
tu nalezy skontaktowac¢ sie z punktem sprzedazy detalicznej, w ktérym dokonano zakupu, lub orga-nem
wtadzy lokalne;.

Wyprodukowano w P.R.C. dla:
DMTrade; Wisniowa 36, 64-000 Koscian, Polska

CELE

13



